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Sentence Connector Questions for IBPS PO Pre, SBI PO 
Pre, SBI Clerk Mains, IBPS Clerk Mains, and LIC AAO 
Exams. 
 

Sentence Connector Quiz 36 
 

Directions: You are required to match statements from columns 1 and 2 and find which of the 
following pairs of statement make sense meaningfully and grammatically. 
 

Questions: 

1.   

  Column (1)     Column (2) 
(A) It is not wrong to declare 

the orientation 
  (D) you are not being given 

chances but you should utilize 
everything 

(B) The decision of the 
government is going to hurt 

  (E) of a person in front of 
everybody without shame 

(C) It should not be borne in 
mind that 

  (F) the sentiments of the people 
there but it was necessary 

 

A. A-E, B-F and C-D  B. A-F and C-D  C. B-F and C-D  D. A-F   
E. None of the above 
 

2.   

  Column (1)     Column (2) 
(A) There is nothing to 

understand here apart 
  (D) the motive will be very 

clear due to that 
(B) The new building in the 

society will create a lot of 
issues  

  (E) around the business 
centre that we should 
seem correct  

(C) The government should 
understand the 
importance 

  (F) we have failed as a society 
to respond here  

 

A. A-E and C-D   B. B-F and C-D  C. A-F   D. B-F   

E. None of the above 

 



 

 

3.   

  Column (1)     Column (2)  
(A) There is no relation with    (D) that the world leaders should 

immediately sit down and discuss them. 
(B) It should be noted 

without any inhibition 
that 

  (E) into the irregularity in the commitment 
of the assembly there. 

(C) There are so many issues 
being faced by people 
from around the globe 

  (F) about art and culture should be 
preserved here no doubt. 

 

A. AE and CD  B. CD   C. BF and CD   D. AE and BD   
E. None of the above 

 

4.   

  Column (1)     Column (2)  
(A) The monsoon is yet to come to India 

  
  (D) discussed in the summit to address 

the concerns. 
(B) The industrial production is not going to 

suffer 
  (E) though it has already made inroads 

in the neighbouring countries. 
(C) There are so many things that should be   (F) the agriculture sector is registering 

growth year after year. 
 

A. AE and BF  B. AE and CD  C. Only AE   D. CD   
E. None of the above 

 

5.   

  Column (1)     Column (2)  
(A) The health insurance policies 

should be designed 
  (D) the video games are so realistic in 

real life. 
(B) There are so many theories 

regarding the 
  (E) the autumn season is very 

beautiful in that country. 
(C) It is the new normal that girls are 

doing 
  (F) social stigma is not something 

very common there. 
 

A. AE and CD  B. BF and CD  C. AF and BD   D. BF 
E. None of the above 

 



 

 

6.   

  Column (1)     Column (2) 
(A) US officials have said that   (D) was unveiled by Sri Lanka recently. 
(B) Police have registered 

cases against 
  (E) Iran was responsible for the 

attacks that took place last month. 
(C) South-east Asia’s largest 

tower 
  (F) rioters for vandalizing properties 

last week. 
 
A. AF   B. CD   C. BE & AD   D. AD, BF & CE 
E. None of these 
 

7.   

  Column (1)     Column (2) 
(A) The regiment was earlier 

equipped with S-300 
  (D) which is a stolen artefact 

(B) Engineers at MIT claim to 
have developed a material 

  (E) a previous version of the missile 

(C) The natives of tribal 
community have access 

  (F) that is 10 times blacker than 
anything else that has already been 
reported 

 
A. AF & BD  B. CD   C. BE    D. AE & BF  
E. None of these 
 

8.   

  Column (1)     Column (2) 
(A) To curb criminal activities 

in civic schools 
  (D) BMC decided to install CCTV cameras. 

(B) A salt dome in Texas 
turned into a bonanza 

  (E) various events are being organized by 
AFMC this year. 

(C) To mark its anniversary,   (F) which was serendipity of far-reaching 
import 

 
A. AD, BF & CE  B. CE   C. BF    D. AD and BF 
E. AE & BF 
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9.   

  Column (1)     Column (2) 
(A) Though the withdrawal of 

monsoon is nearing 
  (D) can help control the pollution levels 

(B) Scientist argue that burning 
of clean fuel 

  (E) is the paucity of parking bays. 

(C) Among many issues the 
Expressway traffic still 
grapples with 

  (F) rainfall activity is yet to cease over 
Central India regions. 

 

A. AF   B. CF & BE  C. AF, BD & CE  D. BF & AE  

E. AE, BF and CD 
 

10.  

  Column (1)     Column (2) 
(A) More than three decades later   (D) Rs 26 Cr. in an exhibition in Delhi 
(B) An unnamed oil painting 

fetched a whopping 
  (E) Netanyahu is fighting for his 

political survival 
(C) Locked in a razor-tight race   (F) the documentary tells the story of 

a 10 year old boy 
 

A. AE, BD & CF  B. BD & CE  C. BE & AF  D. AD & CE  
E. AE 
 

 
 
 
Correct Answers: 

1 2 3 4 5 6 7 8 9 10 
A E B B E E D A C B 
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Explanations: 

1. Connectors: 

 
A and E: 
These two fragments can be connected together in order to form a complete sentence 
that will be meaningful and grammatically correct as well. 
 
The sentence would be: 
It is not wrong to declare the orientation of a person in front of everyone without 
shame. 
 
B - F: 
These two can also be connected in order to form a complete sentence that will be 
meaningful and grammatically correct. 
 
The complete sentence would be: 
The decision of the government is going to hurt the sentiments of the people there but 
it was necessary. 
 
C - D: 
These two statements can also be connected so that a complete sentence can be 
formed that will be meaningful and grammatically correct. 
 
The complete sentence would be: 
It should not be borne in mind that you are not being given chances but you should 
utilize everything.  
 
This makes Option A the correct choice among the given options.  

 
 

2. None of the given pairs can be connected together in order to frame grammatically and 

meaningfully correct statement. 
  

This makes Option E the correct choice among the given options. 
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3. Checking A-E: 

There is no relation with into the irregularity in the commitment of the assembly there. 
  
The above sentence makes no sense at all. Options A and D get eliminated. 
 
Checking C-D: 
There are so many issues being faced by people from around the globe that the world 
leaders should immediately sit down and discuss them. 
 
The above sentence is correct both grammatically and contextually. Hence, C-D is a valid 
combination. 
  
This makes Option B the correct choice among the given options. 

 
 

4. Checking AE: The monsoon is yet to come to India though it has already made inroads in 
the neighbouring countries. 
 
The above sentence is correct both grammatically and contextually. Combination AE, 
hence, is a valid one. 
 
Checking BF: The industrial production is not going to suffer the agriculture sector is 
registering growth year after year. 

  
The above sentence seems contextually correct but it is not correct grammatically. A 
conjunction 'as/since' must be used to link the two given clauses. Combination BF, 
hence, is invalid.  
 
Checking CD: There are so many things that should be discussed in the summit to 
address the concerns. 
 
The above sentence is correct both grammatically and contextually. Combination CD, 
hence, is a valid one. 
  
Clearly, option B is the correct answer. 

 
 

5. Evidently, none of the pairs will be perfect to be connected together in order to form a 

meaningful and grammatically correct sentence. 
  

This makes Option E the correct choice among the given options. 
 



 

 

6. The correctly matched pairs are AE, BF and CD. A mentions officials of a particular 

country, so it should be completed by a sentence which has some specific ‘national 
importance’ information. So A is completed by E. B starts with a police action so it must 
be against a domestic level crime hence F would be the right option. C & D together 
make sense. 

 
Hence, option E is the right answer. 

 
 

7. The correctly matched pairs are AE and BF. C from column 1 does not complete any 

sentence meaningfully hence it is ruled out. Same is the case of D from column 2. B 
mentions a scientific discovery so it should be something which does not exist already. 
Hence F completes B. 

 
A does not match with D but it makes sense when matched with E, as a regiment is a 
unit of military force so missile from E follows. 

 
Hence option D is the right answer. 

 
 

8. The correctly matched pairs are AD, BF and CE. To curb or to stop criminal activities 

installing CCTV cameras to keep a check on unwanted activity seems the right course of 
action. Hence A goes with D. ‘Bonanza’ is a situation which creates a sudden increase in 
wealth while ‘serendipity’ means the occurrence and development of events by chance 
in a happy or beneficial way. Thus F completes B. C & E is an easy guess and they are a 
correct match too. 

  
Hence option A is the right answer. 
 
 

9. The correctly matched pairs are AF, BD and CE. Monsoon and rainfall would fit together 

so A goes with F. Clean fuel would obviously cause less pollution hence B matches D. 
Issues with traffic matches option E from column 2 which states ‘paucity’ or shortage of 
parking bays as an issue. 

  
Hence option C is the right answer. 
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10. The correctly matched pairs are BD and CE. A starts with ‘more than’ which is a 

comparative phrase, so it should follow with, difference between two things but no such 
option is available so we can safely assume that A does not have a match. ‘Whopping’ 
means enormous or very large, after looking at column 2 we see that only D matches 
the description of amount in Crores which is huge. Hence B goes with D. C & E 
individually appear to be different sentences but when read together make sense, 
hence C goes with E. 

  
Hence option B is the right answer. 
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